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QUESTION 1

Which of the following is observed and corrected by a NTP client? 

A. The skew in time between the system clock and the hardware clock. 

B. The skew in time between the system clock and the reference clock. 

C. Changes in the time zone of the current computer\\'s location. 

D. Adjustments needed to support Daylight Saving Time. 

Correct Answer: B 

 

QUESTION 2

On a dual boot system, every time the system is booted back into Linux the time has been set backward by one day.
Which of the following commands will correct the problem? 

A. date -d \\'+ 1 day\\' 

B. hwclock --systohc --localtime 

C. ntpdate pool.ntp.org 

D. time hwclock 

Correct Answer: B 

 

QUESTION 3

When the command echo $$ outputs 12942, what is the meaning of 12942? 

A. It is the process ID of the echo command. 

B. It is the process ID of the current shell. 

C. It is the process ID of the last command executed. 

D. It is the process ID of the last command which has been placed in the background. 

Correct Answer: B 

 

QUESTION 4

Of the ways listed, which is the best way to temporarily suspend a single user\\'s ability to interactively login? 

A. Add the user name to /etc/nologin. 
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B. Change the user\\'s password. 

C. Change the user name in /etc/passwd. 

D. Use change to expire the user account. 

E. Place the command logout in the user\\'s profile. 

Correct Answer: D 

 

QUESTION 5

The X11 configuration file xorg.conf is grouped into sections. How is the content of the section SectionName associated
with that section? 

A. It is placed in curly brackets as in Section SectionName { ... }. 

B. It is placed between a line containing Section "SectionName" and a line containing EndSection. 

C. It is placed between the tags and  

D. It is placed after the row [SectionName]. 

E. It is placed after an initial unindented Section "SectionName" and must be indented by exactly one tab character. 

Correct Answer: B 
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